STUDENT (FIRST & LAST):
Micole Mage

1 — Using an example show why we use the negative feedback of the amplifier to avoid saturation and to control
the output voltage. The example can include an inverting amplifier with example resistors as inputs,a plot that
shows the input output voltage relationship.
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2 —Obtain the Thevenin and Norton equivalent of the circuit below
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3. Given the op amp circuit shown, express v, in terms of v; and v,.
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4 — Use the superposition principle to find i, and v, in the circuit below
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‘s In the circuit below, 11(1‘) 0 @ lf/ﬁ/) 1 4 }9 find: (a) i,(0); (b) i,(¢) and i(#); (c) v(#), v,(#), and
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